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ROUND1-GT1
JIEAL. £ Hi i) ¥ 4 TEC = ATH Total
1 [EEh] AR (BLES) 5 BT URBE[15.82 6.72 22.54
2 |UTiEE AT (AkZ=E) 5 BT UhB|15.26 6.60 21.86
3 | Bl EE (zzE v AbES) 5 BT ohB|14.56 6.36 20. 92
4 |IngE tRvE (L 4 B 7B | 14.28 6.06 20. 34
5 |EME FH—8 [ (dkZefE) 4 B 7B 14.00 6.18 20. 18
6 (B R (FLIR ) 1 U7 omBk|13.44 5.76 19. 20
(1 N (H3EER) 1 U7 omBk|12.74 5.76 18. 50
ROUND1-G2
JIEAE % Hi )& B 4 TEC ~ ATH Total
1 [k HEX CFLIR v S %K) 5 vBU 7 oHB|[16.52 7.08 23. 60
2 [AH ME (Akz=fE) 4 ¥ 7 MER|15.26 6.54 21. 80
3 | HRE (M3 1 BT B |14.98 6.54 21.52
4 |BB IE T (Akz=E) 5 VU7 UHB|14.70 6.66 21. 36
5 |(HEE BT (A=) 1 U7 Uk |13.44 5.70 19. 14
6 %5 RiE (F724) 5 B 7B |13.16 5.64 18. 80
SEMI FINALS-G1
JIEAL. £ Hi B ¥ 4 TEC = ATH Total
1 [eh] AR (BLES) 14 Frrv 15.12 6.42 21. 54
2 |RBlE EE (zzE v AbES) 11 7—vxrr—|14.98 6.42 21. 40
3 |UTEE AR (ArZ=6E) 11 7—vxr7—|14.56 6.30 20. 86
4 |INgE tRvE (L 4 BT B | 14.56  6.06 20. 62
SEMI FINALS-G2
JIEAE % Hi )& B 4 TEC ~ ATH Total
1 [k HEX CFLIR v S 5%T) 14 Frrv 15.82 6.84 22. 66
2 [AH M (Akz=fE) 4 U7 ME]|14.98 6.36 21. 34
3 | HRE (M3 1 BT B | 14.98 6.36 21.34
4 |BB  IE T (Akz=fE) 4 U7 UUER|14.00 6.42 20. 42
BRONZE-G1
JIEAL. £ Hi B ¥ 4 TEC = ATH Total
IO Vo= et (ZeEsdbiEyy) |11 v—vvrr—[15.40 6.66 22. 06
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2 | RE (M3 1 BT B |15.12 6.60 21.72
BRONZE-G2
JIEAL. £ Hi B ¥ 4 TEC = ATH Total
1 [BH M (ArZ=6E) 4 v 7 UlUEE|15.12 6.42 21.54
2 |UTiEE TR (AkZ=6E) 11 7—vxr7—|14.98 6.42 21. 40
GOLD MATCH
JIEfZ % Hi )@ B 4 TEC ~ ATH Total
1 [k HEX CFLIR v S %K) 14 Frrv 15.82 7.02 22. 84
2 |4 AR (B3R 11 7—vxr7—|15.40 6.54 21.94




